Samagra Shiksha, Keralum
Annual Evaluation 2023-24

. . i o 1Vs Hourd
Class ; I1X Biology :i:::; : 41/;

el

Instructions
* 15 minutes is given as cool off time. You may us¢ th
YOUr aNSWers.
< Answer only on the basis of instructions and questions given.
» Keep in mind the score and time while answering. the questions.

e time to read the questions and plan

Answer any 5 questions from 1 - 6. Each carries One score.

1. Identify the locomotory structure of the given onganism.

2. Analyse the characteristics %iven below and identify the muscle cell.
o Spindle shaped cells.
g Makes involuntary movements possible. .
3. Inwhich phase of cell division spindle fibre formation takes place? 1 1
(Prophase, Metaphase, Anaphase, Telophase)

4. Selectthe corréct answer by evaluating the given statement and its reason. 1
Statement @ - Monocots do not increase their girth beyond an extent.
Reason : They do not possess lateral meristem.

a) Statement correct, reason incorrect. :
b) Both the statement and the reason are correct.
c) The statement is incorrect, and the reason correct.

d) Both the statement and the reason are incorrect.

5. Correct mistakes, if any, on the underlined part. 1
a) Lungs expel CO,. '
b) Urea is formed in the kidneys.

¢) Water and salts are expelled through the skin,
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6; Complete the illustration suitably. 3 ]

1

Female Male

46 Chromosome number 46
|
Sperm
23
Zygote !
........... (ii)....

Answer any 6 from questions 7 - 13. Each carries Two scores 6%x2=12)

7. Observe the figure and answer the questions.

Spindle fibers

»

E

a) Which stage of mitosis is indicated here?

1

b) What changes occur during this stage? 1

8. Types of joints and their positions are given in the box. Make suitable pairs as in the given
model. 1 2

Model : Pivot joint- the point where the first Veﬂebmjoins the skull

Gliding joint, Elbow, the point where the first vertebra joins the skull,
the point where bones of upper arm and shoulder joins,
hinge joint, wrist, pivot joint

9, The conversation between two children is given below. Analyse it and answer the question.

Child 1 + syt s through meiosis that the chromosome number in humans is
maintained constant even after penerations.”

Child 2 .- “No. It's mitosis that helps.” -
To whom do you agree? Why?
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10. E}famine the given statements and answer the questions.
i. Roots grow towards water.
-not plant) fold when we touch them.

niand ii? Substantiate.

ii. The leaves of Mimosa (touch-me

Which types of plant movements are mentioned i

11. Observe the picture of chloroplast and answer the following.

a) Whatdoes X’ indicate? A
ents found in “X’. ’ i

b) _ Write any two accessary pigme

can be included in a pamphlet about the topic ‘Ol Age &
o2 2

12. Write the important points that
: an inevitability of Life’.
et & ) ) .
Hints.: a Physical changes of old age.
o Attitude towards them.
3. Rearrange column B in accordance with column A. i ik 2

B
Syniptoms

1

A
Damage

The stretching or breaking of ligaments

Muscular dystrophy -

Damage to cartilage

Sprain

Displacement of bones in joints

Rheumatic arthritis

Degeneration of muscles due to various reasons

Dislocation

s
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Answer any 5 from questions 14 - 20, Each carries Three scores.

14. Obscrve the figure and answer the following.

a) Identify the muscles labelled as ‘X’ and 'S
b) Name the part which connect these mus
¢) How does the action of these musc

15. Analyse the illustration and answer the following

a) Namethe pmlcless of urine formation that takes place i

b) What are the features of “X’ that helps in this process?

/'¢) Does the fluid form as a result of

16. Analyse the Statement and answer the questions.

When We engage in continuous and strenuous €

(5x3=15)

temporarily lose their power of contraction.

a)  Nameé this condition that happens to muscles.

b) l Give reason for such a condition. .
c) While taking rest, the muscles regain their qapacity_ Why?

" A16

1
cles to the bones. 1
Jes help in the rhovement of forelimbs? 1
quéstions.
in the part labelled ‘X 1
1
this process turn into urine completely? ‘
' 1
ercises or games, muscles
1
1
1
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V7. Asinge the stapes of plant coll division glven bkov i cofrs order,
B Davghier celly ove formed,
a Nueleos divider,
e Small vesicle joit o fosm eell phate,
& Soall vesiclen are formed hetween e dusphisr mchii,
B lixtended cell plute joing with the plama pinbipanie.

B Cell plate extends o hoth nides,

/

18, Analyse the statement on the prm:cms of ahsorpticn and an

Mulwllltw nre ,alrmrlmi hy utilirfiml ¢’J‘W’£‘y sﬂ(l
with the help of carricr proteing,

syt the given quecxwm

a)  Nome the pu)s,w; of uhﬁm pl.um memioned here,

b)  Name the simple uuim,m j that are ahsorbed in the small imestine through this

PrOGEsH,

]
i

iy ¢)  Howii differs lrom wther db.;m‘plmn process based on gonvenuration padient? |

19, Answer the following, qm, Aliong,

a)  Listthe nmu,ﬁw.-s that heip w‘ﬂm rmt,h the leaves and difforem mm of the plant, |

b) Howisthe ﬁtruum of mgyh,m num;d for :pﬂ trapsporation of water? | 2

20. Analyse the illustration of Coll eyele and answer the questions.

Inerenses Cell pize

¢ —

Dwiumn pbaw

Interphasc S () K- Al

Kdryﬁkm@r)m

5 oo AN Vyvioi,

S || | —

(e
a)  Complete the illustration suitably.

b)  How docs the processes in (iv) differ in plant and animal eell?
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Answer any 2 from questions 21 - 23, Each carrics four seores. 2x4=8)

21. Redraw the Diagram and label the paris according to the himts given

Redrawing .

a) The part covers and prosects the joints. i
' b) Funciicns as a ubricant betwoen the bores.

¢} The part that seduces the friction berween the boxes.

.22 Apswer the following questions based en Cell division.
a) Why meimsﬂgsmdmhmmm‘ﬂms’
b) Howmmmwoxmhﬁ&ﬂsdﬁammaﬂmms”

<} m&msmbﬁmgﬂammmadﬁnmmgmm«ﬂmem

23. Observe the p:ﬁmeawi answer tke ﬁ:llowmg}gu:aﬁm

“@
ﬁ
T

a) {dentify and vwrite *X’and Y.
p) Writethe functicn of the delicate an
¢) Howthe volume inside ‘Z° reduces during

d elastic air sos seen at the end of Y I
g expirarion’? How it is Ralpful? 2
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